
ERPs 150 ms delay 

N1 Source x Predictability: F(1, 19) = 7.03, p = .016, 𝜂𝑝
2 =.27 

P2 Source: F(1, 19) = 18.32, p < .001, 𝜂𝑝
2= .49 

Source x Predictability: F(1, 19) = 9.38, p = .006, 𝜂𝑝
2= .33 

N1mast Laterality: F(1, 19) = 12.08, p = .003, 𝜂𝑝
2 = .39 

Na Non-significant. 

Tb Source x Predictability: F(1,19) = 7.67, p = .012, 𝜂𝑝
2= .29 

750 ms delay 

N1 Source: F(1, 19) = 17.36, p < .001, 𝜂𝑝
2 = .48 

P2 Predictability: F(1, 19) = 7.05, p = .016, 𝜂𝑝
2= .27 

N1mast Laterality: F(1, 19) = 11.11, p = .003, 𝜂𝑝
2 = .37 

Na Laterality: F(1, 19) = 6.58, p = .019, 𝜂𝑝
2= .26 

Tb Predictability: F(1, 19) = 6.46, p = .02, 𝜂𝑝
2 = .25 

 


